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gazt 10,280.0 7245 7,025.0 2,056.5 4,607.0 361.5 2,535.0 -4.5 43,105.0 10,363.5 73.48 77.64
2L 7 AR 941.5 40.5 648.5 151.0 470.0 27.5 266.5 -14.0 2,742.0 855.5 70.87 70.28
S S UMADER s 582.5 18.5 393.0 136.0 245.0 12.0 171.0 - 2,342.0 614.0 69.68 74.57
¥rbt o7 AR 1,428.0 76.0 1,003.5 362.0 597.5 44.0 347.5 1.0 4,965.5 1,375.0 74.28 73.84
BRI HE 5 35 1,130.0 73.0 779.0 229.5 529.5 20.0 278.0 - 4,770.0 1,300.0 73.70 74.28
T T AR 366.5 21.5 257.0 65.0 175.0 17.0 88.0 - 2,050.5 346.5 74.49 84.15
SR T AR 277.0 30.0 179.5 62.0 111.5 6.0 67.5 - 1,512.5 284.5 72.67 83.17
27 AER 1,369.0 112.5 928.0 256.0 633.0 39.0 326.5 2.0 5,329.5 1,381.5 73.97 76.19
R T AR 253.5 30.0 169.0 58.5 101.0 9.5 54.5 - 1,291.5 232.5 75.62 84.32
AL T AR 403.0 41.0 272.0 93.5 164.0 14.5 90.0 - 2,162.5 428.0 75.14 82.10
ERITT AR 284.0 13.5 221.5 65.0 135.0 21.5 49.0 - 1,403.0 275.5 81.89 81.33
FEEMITER 284.5 20.5 190.0 48.5 129.0 12.5 73.0 1.0 1,175.5 266.0 72.24 79.12
EFRHITT AR 636.5 58.5 429.5 126.0 280.5 23.0 147.0 1.5 2,568.5 615.0 74.50 78.33
SR T AR 815.0 54.0 536.0 79.0 382.5 74.5 225.0 - 3,403.5 760.0 70.43 79.26
&R 75 241.5 34.5 163.5 47.0 110.0 6.5 41.5 2.0 1,894.0 417.5 79.76 79.78
B DR R 2.0 - 1.0 - - 1.0 - 1.0 14.0 1.0 100.00 92.86
[EZSh R o 327.5 36.5 201.0 41.0 152.0 8.0 89.0 1.0 1,948.5 358.0 69.31 83.50
ERHTT AR 108.0 11.5 67.5 23.0 37.5 7.0 29.0 - 422.0 96.5 69.95 79.86
{EHE T T7 AR 278.5 26.5 187.0 86.0 98.5 2.5 65.0 - 923.5 245.0 74.21 76.34
R TT AR 239.5 9.5 171.5 58.5 112.0 1.0 58.5 - 1,167.0 228.5 74.57 81.23
HlE 75 290.5 15.0 213.5 68.0 134.5 11.0 62.0 - 942.0 251.5 77.50 74.89
B T A 21.5 1.5 13.5 1.0 9.0 3.5 6.5 - 77.5 31.5 67.50 61.29
i AE[EIE R (%) 7.06 17.42 4.40 18.43 -3.98 85.86 13.09 -131.03 6.93 10.83 -1.53* -0.70*
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SFBANTIRE = (19 EaFA S S EFE — HREE TP + 13 LRI x 100



